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Internal Question

Ql | A [15 Marks]
Product _ Budgeted Sales Actual Sales’ .
Quantity Price Quantity Price
A 10000 20 15000 28
B 15000 (. 24 20000 16.
From the above information calculntc the followlng varianccs
a. Sales Value Variance N .
b. Sales Mix Variance e
c. Sales Price Variance y P
d. Sales Quantity Variance
e Sales Volume Variance ~ <
Q.2 The sales and profits of Pillai Ltd. during two years are given below:
Year Total Sales (Rs.) Total Cost (Rs.)
2020 3,00,000- - 2,60,000 :
2021 © 3,40,000 2,90,000
You are required to compute: ‘ 4
i. P/V Ratio -
ii. Break-even Point
iii.  Sales required to reach a proﬁt of Rs 40, 000
iv.  Profit made when sales amountis Rs. 2, 50 000
v. Margin of Safety when sales are Rs. 2,50,000
Q.3 A. The cost of an article at capacity level of 5,000 units is given below.

-~ [ Particulars Rs. variable cost
" | Matenal Cost 25,000 100% | -
Labour Cost. = 15,000 100% |
Power 1,250 | 80%.
" [ Repairs-and Mainténance 2.000 15%
1 | Stores z 1,000 100%
" [Inspection 500 - 20%
s Depreciation (Fixed) ~10,000 i
-k Administration overheads 53,0000 25%
°| Selling overheads 3.000 50%
Total > 62,750 \
Cost per unit . 12,55

__'Fmd the umt cost of the producl under each mdwxdual expenses at production levels of 4,000 units

and 6 000 unus

on

(12 Marks]




Q.4 A. Pankaj Automobiles distributes its goods ) ug:onal dcnler using a single lorry The ¢fealcr s
premises are 80 km away by road "The lorry has a capacity of 10 tonnes and makes the joumney, >
twice a day fully loaded on the outward j joumneys and emply on retum joumey The: l'ollowwg S
information is available for a I‘our Weekly period during the year 2023 L o

Petrol Consumption o . 16km per litre -3 S
Petrol Cost 3 < Rs. 26 per litre - -~ Ny
Oil o~ o Rs.>200 per week ) ¢
Dr wer's Wages & iy Rs. 800 per week o :-:_‘
Repairs & i Rs. 200 per week = e
Garage Rent 2y ) Rs. 300 per week ~
Cost of lorry (cxcludmg tyres) : Rs. 9,00,000 & &
Life of lorry - o 1,60,000 km. : N =
Estimated sale valuc of Iorry at the endofitslife  Rs. 1,00,000 o
Cost of tyres = Rs. 12,500 : N o~
Life of tyres > . AN 50,000 km. : N
Insurance : 2 © Rs, 13,000 perannum N3
Vehicle license cost ' Rs. 2,600 per annum &
Othcr overbead cost B Rs. 83,200 per annum
_The lorry opemtes on a five day- week
- Required: ' : .
'l.v A stalement to show the loml cost of operalmb the vehicle for the four weekly periods
'f_"‘ analyzcd into mnnmg costs and fixed costs.
= 2, Calculale vehxclc cost pcr “kilometers and per tonne kilometers. (12 Marks)
Q5 A) TVS Tyres Ltd had budgeted production of 10,000 units. The expenses are as follows:
[15 Marks|
Particulars Cost Per Unit
(Rs.)
Materials cost . 70
Wages cost : 25
Direct Expenses 5
Variable Overheads N 20
Fixed Overheads (Rs.1,00,000) ’ 10
Administrative Overheads (Rs. 50,000) (100% fixed) , S
Selling Overheads (10% Fixed) : _ 3 13
Distribution Overheads (20% Fixed) T
Prepare a Flexible Budget for the production of 6000 units, 8,000 units and 10,000 units
showing Variable Cost, Fixed Cost in Total and Cost Per Unit at each level of production.
Q.6 A) : . 2 ~ [15Marks]
Standard > -“Actual
Product - — - :
SQ| . sp , SC| AQ| APy “AC
X 800{ s0|. 40000  g40| -as| 37,800 |:
Y "400| 20 8000 | - 480 | 25| o 12000 -
z 200 15 3000 180 15 2,700
: 1400  *| - 51,000|  g£500| *| 52,500 [
Normal Loss .50 | : \.‘i i | ,\-:. C1sol e ;~ =
Total 1350 S| Cspe00f 13s0|  +fS s2800| o
From the above information calculale the: followmg\'nnanccs_; * 3 M 3

a. Material Cost Variance <3 =
b. Matenal Price Variance 3 % A o
c. Material Usage Variance -~ 8- < = <y
-d. Material Mix Variance & P - 3

e. Material Yield Variance ! 3 2




Q.7

3.

Following information is fmmshe—ll';y—l-.lllnckh Ltd

—

Sales ~ | Profit
Year 2017 . | Rs1,20;000° | Rs.8,000
Year 2018- 2D Ramq,gao. Rs 13,000 -

Profit Volume Ratio. < \\z‘: i
Break Even Point (BEP) A > __<

(iii)  Profit when sales are Rs 1 so,obo
(iv)  Sales to earn profit of Rs. 12,000 -

). MnrgmofSafay;lnﬁwymZOlB
Q8 1. A newly started SSG Co.Ltd wishes to prepare Cash-Budget from May. You are required
to prepare a Cash Budget for the first six months [rom the following estimated revenue and
expenses. [15 Marks)
Month Total Materials Wages Overheads
Sales Production Selling &
Distribution
Rs. Rs. Rs. Rs.
Rs. 3
May 20,000 20,000° 4,000 3,200 800
June 22,000 14,000 | 4,400 3,300 900
July 24,000 14,000 - 4,600 3,300 800
August 26,000 12,000 4,600 3,400 900
September 28,000 12,000 4,800 3,500 900
October 30,000 16,000 4,800 3,600 1,000
Cash balance on 1* May was Rs:10,000. A new machine i is to be installed at Rs.30,000 on
credit to be rcpald by two. equal mstalments in-July and August.
Sales commission at-2.5% on total sales.is to: be paid within the month following actual
sales. SO
Rs.10,000 being'the- amount of sccond ccall may be received in July, share premium
amounting to Rs.2,000:is: also obtamable wnth 'second call.
(a) Period of credit allowcd by. supphcrs is'to be two months.
(b) Period of: Crcdnt allowed:to customers'is {0 be one month.
(c) Delay in'payment of overheads is to be one month.
(d) Delay in payment of ‘wages is 15.days.(i.e %4 month).
(e) Assumc cash sales to be 50% of total'sales.
UK
Q.9 2. From the following pamculars calculate mntenul variances including material sub-
variances. The standard mix required for a.product is [15 Marks]
Material A-60% at standard ; price Rs.40 per kg and
Material B- 40% at standard price Rs.60 per kg
Normal loss is 10% of total input.
Actual output obtamcd during the pcnod was 3 600 units.for which actual consumption
of materials are: :
Material A- 2,550 kgs @ Rs:42 per kg
Material B-1,750 kgs @ Rs.59 per kg
Q10 3. Z Ltd produces and sales a single article at Rs.10 each. The marginal cost of production
is Rs.6 each and fixed cost is Rs.400 per annum. [15 Marks]

Calculate:

(i) P/V Ratio

(1)  The Break-Even Sales (in Rs. And Nos.)
(iii)  The sales to earn a Profit of Rs.500

“Aiv) ~ -Profit at sales of Rs.3,000

(v)  New Break Even Point if sales price is reduced by 10%

“(vi)  Margin of safety at sales of Rs.1,500 and

(vii) Selling price per unit if the Break Even Point is reduced to 80 units.




